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(1) (1) HsEEBD 32K ELT, 22+ 22 — 8 BN IRT 5.

322+ 61 — 24 = 3(x% + 2x —8)
=3(x+4)(x—2)

(2) x, yD>5b, WEDENFDLF y 12 OWTREBIT 3,

2% —3x% —dxy? + 12y = —4y%(x — 3) + 2%(x — 3)
= (—4y* + 29)(x - 3)
= {2’ — 2y} (x—3)
= (z+2y)(x —2y)(x —3)

(3 a, b, cD>bH, WEDENE cIZOWTREEIMT 5,

a? + 4b% — 4ab — ac + 2bc = —(a — 2b)c + (a® — 4ab + 4b%)
= —(a—2b)c + {a® — 2a(2b) + (2b)%}
= —(a—2b)c + (a—2b)?
=(a—2b)(a—2b—c)

4 X=zxtebBEhrz, a2—0>=(a+b)(a—0b) DARE[FZ B LS IzA%
2T 5,

2 H5r2+9=X2+5X+9=(X2+6X+9) — X
={X?+2-3-X+3}—-X
=(X+3)?%—-X

X%22IZRLT, a2 —b*=(a+b)a—0b) DAXEHNS,

(X +3)?2—X=(2*+3)%*—z*
={(2*+3)+z2}{(x?+3)—x}
= (2 +2x+3)(xP—x+3)
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17 +18 =35
17 +20 = 37
(35 x 3 + 37 x 1) + 4=355
Lo T, \HROFETEIL 35517 5,
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(35 X 3 4+ 37 x 1) + 4=355
Lo T, BHROFF=EIL 3551075,
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Bt cos  Cu — Cu? +2e”

e coMEs Cu?t +2e” — Cu



